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QUESTION 1

Which two NetApp tools would be used to set up protection relationships between a SolidFire cluster and an ONTAP
cluster? (Choose two.)

A. SnapCenter

B. SolidFire Element Operating System Ul
C. OnCommand Insight

D. ONTAP CLI

Correct Answer: BD

Reference: https://www.netapp.com/us/media/tr-4651.pdf

QUESTION 2

Click the Exhibit button.

Edit Snapshot Policy ¥
MName:
Schedules
Schedule Name  Maximum Snapshot Copies to be Refained SnapMirror Label Add
hourty [ -
) Edit
daily 2 daily
Delete
weekly 2 weekly
Tell me more about Snapshot policies
Cancel

You have a volume that was configured a year ago using the default Snapshot policy that is shown in the exhibit. You
need to increase the number of hourly maximum Snapshot copies to retain only four copies.

Which additional action is needed to keep only four hourly Snapshot copies in this volume after modifying the
schedule?

A. Delete two hourly Snapshot copies
B. Reapply the default policy to the volume

C. Modify the volume guarantee
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D. Modify the Snapshot reserve.

Correct Answer: A

QUESTION 3

Click the Exhibit button.

Destination Yolume

?) Cluster cluster-1 v
Storage Virtual Machine VS“IPEEI'Ed} Browse
volume @ New Volume € Select Volume
Volume name ﬁ&glﬂgd:f,
svmi_vol_2_vault aggri Browse
o Enable dedupe 70.13 GB available {of 70.14GE)

An employee\\'s computer and mapped home folder has been encrypted with ransomware. You are asked to restore the
data from a SnapVault repository.

Referring to the exhibit, what happens when the volume is restored?
A. All files in the volume are restored.

B. The restore is performed locally.

C. The original data is decrypted in place.

D. Only files that have changed in the volume are restored.

Correct Answer: A

QUESTION 4

A customer has setup an SVM DR relationship to provide disaster recovery capability at the SVM level. The secondary
site has a different network configuration. They want to replicate the protocol and services

configuration of the primary SVM to the secondary SVM when creating the SVM DR relationship. Which two actions will
accomplish this task? (Choose two.)

A. Set the identity preserve option to false.

B. Set the discard configuration network option.

C. Set the vserver-dr-protection unprotected option.
D. Set the identity preserve option to true.

Correct Answer: BD
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Reference: https://blog.netapp.com/simplified-svm-level-data-protection-using-oncommand-systemmanager-9-5/

QUESTION 5

A company is evaluating different data protection solutions. The company requires a solution that provides both local
failover and storage tiering.

Which two solutions meet these requirements? (Choose two.)

A. a FAS9000A system with SSD aggregates and FabricPool

B. a FAS8200A NetApp Private Storage (NPS) system and Cloud Backup
C. an AFF A300A with StorageGRID WebScale

D. a FAS2650A system with HDD aggregates and FabricPool

Correct Answer: AC
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